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OUTPUT A:  3 .0V

OUTPUT B:  3 .0V

VIN

ENABLE  OUTPUT A

ENABLE  OUTPUT B

C 3
10nF

C 2
1uF

C 1
1uF

C 4
1uF

U 1 S C 1 4 5 4 D I M S
1

2

3

4 5

7

6

8
O U T A

O U T B

G N D

S E T A E N B

E N A

BYP
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OUTPUT A:  2 .5V

OUTPUT B:  2 .8V

VIN

ENABLE OUTPUT A

ENABLE OUTPUT B

C3
10nF

C4
1uF

C1
1uF

C2
1uF

R1
100k

R2
100k

U1 SC1454CIMS
1

2

3

4 5

7
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8
O U T A

O U T B

G N D
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retemaraP lobmyS mumixaM stinU

egatloVylppuStupnI V NI 7+ot5- V

egatloVtupnIelbanE V NE V+ot5- NI V

egnaRerutarepmeTtneibmAgnitarepO TA 58+ot04- C°

egnaRerutarepmeTnoitcnuJgnitarepO TJ 521+ot04- C°

egnaRerutarepmeTegarotS T GTS 051+ot06- C°

tneibmAotnoitcnuJecnadepmIlamrehT )1( θ AJ
602 W/C°

tneibmAotnoitcnuJecnadepmIlamrehT )2( θ AJ
59 W/C°

esaCotnoitcnuJecnadepmIlamrehT θ CJ
93 W/C°

)ledoMydoBnamuH(gnitaRDSE DSE 2 Vk

Unless specified: TA = 25°C, VIN = VOUT + 1V, IOUTA = IOUTB = 1mA, CIN = COUT = 1.0 µF, VENA = VENB = VIN.
Values in bold apply over full operating temperature range.

retemaraP lobmyS snoitidnoC niM pyT xaM stinU

NI

egatloVylppuStupnI V NI 52.2 05.6 V

tnerruCtnecseiuQ IQ V ANE V,V0= BNE V= NI I, BTUO roAm051=

V BNE V,V0= ANE V= NI I, ATUO Am051=

001 051 Aµ

002

V ANE V= BNE V= NI I, ATUO I= BTUO Am051= 031 002 Aµ

052

V NI V,V5.6= ANE V= BNE )FFO(V0= 2.0 0.1 Aµ

5.1

BTUO,ATUO

egatloVtuptuO )1( V TUO I TUO Am1= %1- V TUO %1+ V

Am0 ≤ I TUO ≤ V,Am051 TUO V1+ ≤ V NI ≤ V5.5 %2- %2+

noitalugeReniL )1( GER )ENIL( V TUO V1+ ≤ V NI ≤ I,V5.5 TUO Am1= 5.2 01 Vm

21

noitalugeRdaoL )1( GER )DAOL( Am1.0 ≤ I TUO ≤ Am051 5- 02- Vm

03-
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retemaraP lobmyS snoitidnoC niM pyT xaM stinU

).tnoC(BTUO,ATUO

egatloVtuoporD )2()1( VD I TUO Am1= 1 Vm

I TUO Am05= 25 07

09

I TUO Am051= 551 012

072

timiLtnerruC I MIL 004 Am

noitcejeRelppiR RRSP f C,zH021= PYB Fn01= 16 Bd

esioNegatloVtuptuO en I,zHk001otzH01=f TUO ,Am05=
C PYB C,Fn01= TUO tuptuoV8.1,Fµ2.2=

72 Vµ SMR

I,zHk001otzH01=f TUO ,Am05=
C PYB C,Fn01= TUO tuptuoV3.3,Fµ2.2=

55

BNE,ANE

dlohserhTtupnIelbanE V HI 6.1 V

V LI 4.0

tnerruCsaiBtupnIelbanE )3( I NE V0 ≤ V B/ANE ≤ V NI 5.0- 5.0 Aµ

PYB

emiTesiRpU-tratS tr C PYB Fn01= 52.1 sm

ATES

dlohserhTtceleS/esneS V HT 02 04 08 Vm

egatloVecnerefeRATES V ATES V NI I,V5.2= TUO Am1= %1- 052.1 %1+ V

Am0 ≤ I TUO ≤ V5.2,Am051 ≤ V NI ≤ V5.5 %2- %2+

tnerruCegakaeLtupnIATES )3( I ATES V ATES V3.1= 510.0 05 An

noitcetorPerutarepmeTrevO

leveLpirThgiH T IH 051 C°

siseretsyH T TSYH 02 C°

Unless specified: TA = 25°C, VIN = VOUT + 1V, IOUTA = IOUTB = 1mA, CIN = COUT = 1.0 µF, VENA = VENB = VIN.
Values in bold apply over full operating temperature range.
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Notes:
(1)  Where X denotes voltage options - see Voltage
Options table.
(2)  Only available in tape and reel packaging.  A reel
contains 2500 devices.

srebmuNtraP egakcaP

RTSMIX4541CS )2()1( 8-POSM

 �
��(
��%

0�$5:7
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X V ATUO )V( V BTUO )V(

A 8.1 8.1

B 5.2 5.2

C 8.2 8.2

D 0.3 0.3

E 3.3 3.3

F 0.3 5.2

G 0.3 8.1

H 0.3 8.2

J 3.3 5.2

K 3.3 8.2

5
��#����
��

��

#niP emaNniP noitcnuFniP

1 ATUO .tuptuoArotalugeR

2 BTUO .tuptuoBrotalugeR

3 DNG .nipdnuorG

4 ATES VrofeulavteserpyllanretniehtnistluserdnuorgotnipsihtgnitcennoC .TUO

VsegnahcredividrotsiserlanretxenaotgnitcennoC ATUO :ot

5 BNE tonfiNIottcennoC.tupnielbitapmocSOMC.BtuptuorofnipelbanehgihevitcA
.desugnieb

6 PYB C,roticapacFn01atcennoC.ecnereferpagdnabrofnipssapyB PYB neewteb,
.noitarepoesionwolrofdnuorgdnanipsiht

7 ANE tonfiNIottcennoC.tupnielbitapmocSOMC.AtuptuorofnipelbanehgihevitcA
.desugnieb

8 NI .srotalugerhtobrofniptupnI






 +•=

2R
1R

1250.1VOUTA
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OUTPUT A :  2 .5V

OUTPUT B :  2 .8V

VIN

E N A B L E  O U T P U T  A

E N A B L E  O U T P U T  B

C 3
1 0 n F

C 4
1 u F

C 1
1 u F

C 2
1 u F

R 1
1 0 0 k

R 2
1 0 0 k

U 1 S C 1 4 5 4 C I M S
1

2

3

4 5

7

6

8
O U T A

O U T B

G N D

S E T A E N B

E N A

B Y P
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